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Q.1 Define financial management and discuss its objectives. (15) 

 OR  

Q.1 Explain the role of financial manager in modern business enterprise. (15) 
   

Q.2 Narrate : Long Term sources of Finance. (15) 
 OR  

Q.2 Discuss : Short Term sources of Finance available to small and 
medium enterprises. 

(15) 

   

Q.3 Critically evaluate structure of Indian Financial System. (15) 
 OR  

Q.3 Discuss the functions of capital market and explain various 
instruments of money market. 

 

   
Q.4 Discuss importance of capital budgeting and explain its process.  

 OR  

Q.4 Bhavita Company Ltd. is planning to buy one machine.  Two 
machines 'A" and 'B' are available.  The life of each machine is        
5 years and scrape value at the end of life is Rs. 1,00,000.  The cost 
of each machine is Rs. 10,00,000.  The expected rate of return for 
company is 10% and company falls in to 60% tax slab.  Expected 
profit before depreciation and tax for both machines is as udner : 

 

 

Year Machine - A (Rs.) Machine - B (Rs.) 

1 600000 210000 

2 550000 335000 

3 475000 485000 

4 325000 575000 

5 215000 625000 
 

 As per the following methods select best profitable machine.  
 (a) Pay Back Period Method (PBP)  
 (b) Average Rate of Return (ARR)  
 (c) Net Present Value (NPV)  
 Present value of Rs. 1 at 10% discount rate for 5 years is as follows:  
 0.909, 0.826, 0.751, 0.683, 0.621  
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_p¢^ : S>dZu bpSy>_p Ap„L$ âï__p NyZ v$ip®h¡ R>¡. 
               Ly$g NyZ : 60 

â.1 _pZp„L$ue k„Qpg__u ìep¿ep Ap`u s¡_p l¡syAp¡_u QQp® L$fp¡. (1`) 
 A\hp 

 

â.1 Ap^y_uL$ ^„^pL$ue kplkdp„ ""ape_pÞk d¡_¡S>f''_u c|rdL$p kdÅhp¡. (1`) 
   

â.f hZ®_ L$fp¡ : gp„bp Npmp_p _pZp„ `°pràs õ\p_p¡. (1`) 
 A\hp  

â.f kyÿd A_¡ dÂed L$v$_p ^„^pL$ue A¡L$dp¡ dpV¡$ D`gå^ V|„L$p Npmp_p _pZp„ `°pràs 
õ\p_p¡_u QQp® L$fp¡.  

(1`) 

   

â.3 cpfsue _pZp„L$ue `Ùrs_p dpmMp_y„ V$uL$pÐdL$ dyëep„L$_ L$fp¡. (1`) 
 A\hp  

â.3 d|X$u bÅf_p rhrh^ L$pep£_u rhõs©s QQp® L$fu _pZp„ bÅf_p kp^_p¡_u kdS> 
Ap`p¡. 

(1`) 

   

â.4 d|X$u A„v$pS>`Ó_y„ dlÐh kdÅhu s¡_p rhrh^ sbL$L$pAp¡_y„ hZ®_ L$fp¡. (1`) 
 A\hp  

â.4 cprhsp L„$`_u gu. A¡L$ e„Ó Mfuv$hp_y„ Apep¡S>_ L$f¡ R>¡.  e„Ó "A' A_¡ e„Ó "b' 
A¡d b¡ rhL$ë`p¡ D`gå^ R>¡.  v$f¡L$ e„Ó_y„ A„v$pÆ Apeyóe ` hj®_y„ R>¡, A_¡ 
Apeyóe_p A„s¡ s¡_u c„NpfqL„$ds ê$p. 100000 R>¡.  v$f¡L$ e„Ó_u rL„ds            
ê$p. 1000000 R>¡.  Ap L„$`_u_p A ¡̀rns hmsf_p¡ v$f 10% R>¡ A_¡ L„$`_u_¡ 
60% g¡M¡ L$fh¡fp_p¡ v$f gpNy `X¡$ R>¡.  b„_¡ e„Óp¡_p¡ Okpfp¡ A_¡ L$fh¡fp `l¡gp„_p¡ 
A„v$pÆs _ap¡ _uQ¡ dyS>b R>¡. 

(1`) 

 

hj® e„Ó "A' (ê$p.) e„Ó "b' (ê$p.) 

1 600000 f10000 

f ``0000 33`000 

3 47`000 48`000 

4 3f`000 `7`000 

` f1`000 6f`000 
 

 _uQ¡_u `ÙrsAp¡_¡ Ap^pf¡ kp¥\u _apL$pfL$ e„Ó_u `k„v$Nu L$fp¡.  
 (A) ̀ fs - Ap` dyv$s    (b) kf¡fpi hmsf_p¡ v$f  
 (L$) Qp¡¿My hs®dp_ d|ëe  
 10% hV$ph_p v$f¡  ê$p. 1_y„ `p„Q hj®_y„ hs®dp_ d|ëe Ap âdpZ¡ R>¡.  
 0.909, 0.8f6, 0.7`1, 0.683, 0.6f1  

#########  


